## BEFORE THE BOARD OF COUNTY COMMISSIONERS OF LEWIS COUNTY, WASHINGTON

IN THE MATTER OF:	}
Listing of Bids and Contractors selected for	Resolution 18- 080
the 2018 Rock Proposal	}

**WHEREAS**, pursuant to Resolution 18-038, a call for bids was issued on January 29, 2018 for the 2018 Rock Proposal; and

WHEREAS, bid quotations have been submitted by the following contractors:

**Contractor Name** 

Sterling Breen Crushing, Chehalis, WA Good Crushing, Inc., Toledo, WA Rock Services, Inc., Centralia, WA Winston Quarry, Mossyrock, WA

WHEREAS, Lewis County personnel evaluated the bids including haul costs to determine the most advantageous bid to Lewis County; and

**WHEREAS**, Good Crushing, Inc. provided the lowest responsive bid for Item Nos. 2A, 4A, 5A, 6A, 7A, 8A, 9A, 10A and 11A for a total of \$212,322.88 including sales tax; Sterling Breen Crushing Inc. provided the lowest responsive bid for Item Nos. 1A, and 3A for a total of \$28,326.88 including sales tax and Winston Quarry provided the lowest responsive bid for Item No. 12A for a total of \$38,808.00 including sales tax for the 2018 Rock Proposal in Lewis County.

**NOW THEREFORE BE IT RESOLVED** that the contracts for the 2018 Rock Proposal in Lewis County shall be awarded to Good Crushing in the amount of \$212,322.88, Sterling Breen Crushing in the amount of \$28,326.88 and Winston Quarry in the amount of \$38,808.00 upon the execution of a contracts acceptable to the Board of County Commissioners. Upon presentation of such contracts, the Director of Public Works is authorized to sign on behalf of the Board of County Commissioners.

**DONE IN OPEN SESSION** this <u>26<sup>th</sup></u> day of February, 2018.

APPROVED AS TO FORM JONATHAN L. MEYER, Prosecuting Attorney	BOARD OF COUNTY COMMISSIONERS LEWIS COUNTY, WASHINGTON
Civil Deputy	Edna J. Fund, Chair
civil Deputy	Must (; Suhi
ATTEST:	Robert C. Jackson, Vice Chair
fresatostes SINCE	absent
Rieva Lester, Clerk of the Lewis County	Gary Stamper, Member
Board of County Commissioners	

2018 Ro (506 Pits Februar *Contractor H.	2018 Rock Proposal (506 Pits & Quarries) February 13, 2018 *Contractor Haul is not shown in Totals					Sterling Breen Crushing, Inc 887 State Route 507 Centralia, WA 98531 (360) 736-4240 UBI: 601-140-187				Good Crushing, Inc. 265 Rupp Road Toledo, WA 98591 (360) 864-2974 UBI: 601-919-623				Rock Services, Inc. P.O. Box 35 (360) 269-8333 UBI: 601-770-060				Winston Quarry, Inc. 269 Winston Creek Rd. (360) 985-0487 or (360) 520-7090 UBI: 602-424-894	
1/2 - No.4 Cru	1/2 - No.4 Crushed Screening				H	Rock Total	15,027.32		Ħ	Rock Total	17,679.20			Rock Total	A CONTRACTOR OF		Ħ	Rock Total	
	- 10 E-10 E-10 E-10 E-10 E-10 E-10 E-10			Unit Price	_	Sales Tax (7.8%)		Unit Price	_	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
1A Mineral - A7		820		17.00	13,940.00	1,087.32	15,027.32	20.00	16,400.00	1,279.20	17,679.20								
18	Hauling		Ton	17.04	13,972.80	1,089.88	15,062.68	18,040.00	14,792,800.00	1,153,838.40	15,946,638.40		ALC:						
3/8 - No.4 Crushed Sc	shed Screening					Rock Total	215,669.80		, Ka	Rock Total	226,276.51			Rock Total	0.00			Rock Total	0.00
				Unit Price	Sub-Total	Sales Tax (7.8%)	_	Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
2A Agate - A1		1,270	Ton	15.25	19,367.50	1,510.67	20,878.17	16.00	20,320.00	1,584.96	21,904.96							STATE OF STREET	
28	Hauling		Ton	8.04	10,210.80	796.44	11,007.24	14,605.00	18,548,350.00	1,446,771.30	19,995,121.30								
3A Lincoln Creek - A1		808		15.25	12,337.25	962.31	13,299.56	16.00	12,944.00	1,009.63	13,953.63					0.00			
	Hauling	i i		7.68	6,213.12	484.62	6,697.74	0.00	00:00	00.0	0.00					A STATES			
4A Bunker - A2		369		15.25	5,627.25	438.93	6,066.18	16.00	5,904.00	460.51	6,364.51								
_	Hanling			8.76	3,232.44	252.13	3,484.57	4,243.50	1,565,851.50	122,136.42	1,687,987.92								
5A Meskill - A2	7.40.714	989	Ton	15.25	15,082.25	1,176.42	16,258.67	16.00	15,824.00	1,234.27	17,058.27					1			
	Daning A2	2000		9.48	9,575.6	101.01	10,107.03	16.00	00.186,042,11	1 107 17	12,123,100.04								
6A Pleasant Valley - A3	- A3	167,6		0.76	20,187.75	3,914.04	34 077 83	10 746 00	54 984 086 00	4,107.17 5,068,758,74	70.052.844.71								
74 Old Venetation - A3		3 292		15.25	50 203.00	3.915.83	54.118.83	16.00	52.672.00	4.108.42	56.780.42								
	Hauling			7.32	24.097.44	1.879.60	25.977.04	29,628.00	97,535,376.00	7,607,759.33	105,143,135,33			Second Display					
8A Drop Box - A3		278		15.25	4,239.50	330.68	4,570.18	16.00	4,448.00	346.94	4,794.94							THE RESIDENCE OF THE PARTY OF T	
	Hauling		Ton	10.20	2,835.60	221.18	3,056.78	4,170.00	1,159,260.00	90,422.28	1,249,682.28								
9A Toledo - A5		609		15.25	9,287.25	724.41	10,011.66	16.00	9,744.00	760.03	10,504.03								
	Hauling			9.33	5,681.97	443.19	6,125.16	8,526.00	5,192,334.00	405,002.05	5,597,336.05								
10A Larson - A6		392		15.25	5,978.00	466.28	6,444.28	16.00	6,272.00	489.22	6,761.22								
10B	Hauling			12.36	4,845.12	377.92	5,223.04	5,880.00	2,304,960.00	179,786.88	2,484,746.88				The state of the s				
11A Mineral - A/	Landing	028,1	Ton	15.25	27,755.00	2,164.89	29,919.89	16.00	29,120.00	2,271.36	31,391.30								
	Ping.		5	5	21,012	2,110,00	00:101:00	200	200000000000000000000000000000000000000	2000									
Crushed Sur	Crushed Surfacing Top Course (CSTC)	STC)				Rock Total	29,106.00			Rock Total	36,652.00			Rock Total	50,234.80	2 3 3 5 5		Rock Total	38,808.00
				Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
12A Ashford - A7		4,000	Ton (	6.75	27,000.00	2,106.00	29,106.00	8.50	34,000.00	2,652.00	36,652.00	11.65	46,600.00	3,634.80	50,234.80	9.00	36,000.00	2,808.00	38,808.00
128	Hauling		Ton	20.28	81,120.00	6,327.36	87,447.36		384,000,000.00	29,952,000.00	413,952,000.00	43,200.00	172,800,000.00	13,478,400.00	186,278,400.00	0	304,000,000.00	23,712,000.00	327,712,000.00
	The fact that the		1 111	Quantity				Quantity								Quantity			
Successful Rock T	ul Rock Totals			1,629	26 277 25	2.049.63	28 326.88	12 310	196 960 00	15 362 88	212.322.88					4 000	36.000.00	2.808.00	38,808.00

err De

## **BOCC AGENDA ITEM SUMMARY**

Resolution: BOCC Meeting Date: Feb 26, 2018

Suggested Wording for Agenda Item: Agenda Type: Consent

Listing of Bids and Contractors selected for the 2018 Rock Proposal

Contact Erik Martin Phone: 2697

**Department:** Public Works

Action Needed: Approve Resolution

## Description

This contract provides for the production, stockpiling and loading of crushed screenings and crushed surfacing top course for Lewis County's 3R program. This material purchase will allow Lewis County crews to complete the maintenance and 3R programs on various roads for the 2018 summer road construction season.

A Call for Bids was made on January 29, 2018. The project was advertised for two consecutive weeks in The Chronicle and The Daily Journals of Commerce, Seattle and Portland. The project was also listed on Lewis County's website. The bidding was divided by item numbers in 3 different categories (1/2- No 4 Crushed Screening, 3/8 - No. 4 Crushed Screening and Crushed Surfacing Top Course and then item numbers within each category defining sites the material is to be stockpiled. Good Crushing, Inc. provided the lowest responsive bid for Item Nos. 2A, 4A, 5A, 6A, 7A, 8A, 9A, 10A and 11A for a total of \$212,322.88 including sales tax; Sterling Breen Crushing Inc. provided the lowest responsive bid for Item Nos. 1A, and 3A for a total of \$28,326.88 including sales tax and Winston Quarry provided the lowest responsive bid for Item No. 12A for a total of \$38,808.00 including sales tax. The lowest responsive bidders were determined by their product cost together with Lewis County hauling costs.

Resolution approval will award Item Nos. 2A, 4A, 5A, 6A, 7A, 8A, 9A, 10A and 11A to Good Crushing, Inc. for a total of \$212,322.88 including sales tax; Item Nos. 1A, and 3A, to Sterling Breen Crushing Inc. for a total of \$28,326.88 including sales tax; and Item No. 12A to Winston Quarry for a total of \$38,808.00 including sales tax, upon presentation of a contracts acceptable to Lewis County, for the 2018 Rock Proposal and authorizes the Director of Public Works to sign the same. These awards are recommended based on the Engineers analysis of the price per ton of the product from the bidders together with the cost for Lewis County to haul the product from the individual pit site to each stockpile sites. The most advantageous cost to the County was selected for recommendation to award.

## **Additional Copies**

Kim Amrine Rod McAleny, PW Kevin Korpi, PW Tim Fife, PW

2018 Rock Propos (506 Pits & Quarrie February 13, 201 *Contractor Haul is not in Totals	2018 Rock Proposal (506 Pits & Quarries) February 13, 2018 tractor Haul is not shown in Totals					Stefing Breen Chushing, In: 887 State Route 507 (360) 736-4240 UBI: 601-140-187				Good Crushing, Inc. 265 Rupp Road Toledo, WA 98591 (360) 864-2974 UBI: 601-919-623				Rock Services, Inc. P.O. Box 35 Centralia, WA 98531 (360) 269-8333 UBI: 601-770-060				Winston Quarry, Inc. 269 Winston Creek Rd. (360) 985-0487 or (360) 520-7090	
1/2 - No 4 Crushed Sci	Screening Screening				-	ck Tota	15,027.32			Rock Total	17,679.20			Rock Total				Rock Total	
				Unit Price	Sub-Total	Sales Tax (7.8%)	-	Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
1A Mineral - A7		820	Ton		0	1,087.32	15,027.32	20.00	8	1,279.20	17,679.20						1000		
	Hauling		Ton	17.04	13,972.80	1,089.88	15,062.68	18,040.00	14,792,800.00	1,153,838.40	15,946,638.40								
3/8 - No 4 Crished Sci	Shed Screening				ľ	Rock Total	215.669.80			Rock Total	226.276.51			Rock Total	0.00			Rock Total	0.00
10 + 101 - 100				Unit Price	Sub-Total	Sales Tax (7.8%)	_	Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
2A Agate - A1		1,270	Ton	_	0	1,510.67	20,878.17	16.00	8	1,584.96	21,904.96	State of the last							
F2100000	Hauling		Ton	8.04	10,210.80	796.44	11,007.24	14,605.00	18,548,350.00	1,446,771.30	19,995,121.30								
Lincoln Creek - A1	41	808		15.25	12,337.25	962.31	13,299.56	16.00	12,944.00	1,009.63	13,953.63								
38	Hauling			7.68	6,213.12	484.62	6,697.74	0.00	00:00	00:00	0.00								
4A Bunker - A2		369	17	15.25	5,627.25	438.93	6,066.18	16.00	5,904.00	460.51	6,364.51								
_	Hauling			8.76	3,232.44	252.13	3,484.57	4,243.50	1,565,851.50	122,136.42	1,687,987.92								
5A Meskill - A2		989		15.25	15,082.25	1,176.42	16,258.67	16.00	15,824.00	1,234.27	17,058.27								
	Hauling			9.48	9,375.72	731.31	10,107.03	11,373.50	11,248,391.50	877,374.54	12,125,766.04								
6A Pleasant Valley - A3		3,291		15.25	50,187.75	3,914.64	54,102.39	16.00	52,656.00	4,10/.1/	20.050.04.74								
_	Hanling	0000		8.76	28,829.16	2,248.67	31,077.83	19,740.00	62,984,086.00	3,000,730.71	10,032,644.71								
7A Old Vegetation - A3	Hauling	3,292	10 10	7.32	24 097 44	1 879 60	25 977 04	29 628 00	97 535 376 00	7 607 759 33	105 143 135 33								
8A Oron Box - A3	D. C.	278		15.25	4.239.50	330.68	4,570.18	16.00	4,448.00	346.94	4,794.94								
	Hauling			10.20	2,835.60	221.18	3,056.78	4,170.00	1,159,260.00	90,422.28	1,249,682.28				100				
9A Toledo - A5		609		15.25	9,287.25	724.41	10,011.66	16.00	9,744.00	760.03	10,504.03								
98	Hauling			9.33	5,681.97	443.19	6,125.16	8,526.00	5,192,334.00	405,002.05	5,597,336.05								
10A Larson - A6		392		15.25	5,978.00	466.28	6,444.28	16.00	6,272.00	489.22	6,761.22								
	Hauling	1 020	100	12.36	97 755 00	377.92	5,223.04	2,880.00	2,304,960.00	2 271 36	2,464,746.66								
118 Willield 1	Hauling	301		17.04	31,012.80	2.419.00	33,431.80	40,040.00	72,872,800.00	5,684,078.40	78,556,878.40								
	D																		
Crushed Sur	Crushed Surfacing Top Course (CSTC)	STC)			Ī	Rock Total	29,106.00			Rock Total	36,652.00			Rock Total	50,234.80			Rock Total	38,808.00
				Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)		Unit Price	Sub-Total	Sales Tax (7.8%)	
12A Ashford - A7		4,000	Ton (	6.75	27,000.00	2,106.00	29,106.00	8.50	34,000.00	2,652.00	36,652.00	11.65	46,600.00		50,234.80	9.00	36,000.00	2,808.00	38,808.00
128	Hauling		Ton	20.28	81,120.00	6,327.36	87,447.36		384,000,000.00	29,952,000.00	413,952,000.00	43,200.00	172,800,000.00	13,478,400.00	186,278,400.00	0	304,000,000.00	23,712,000.00	327,712,000.00
				Quantity				Quantity	5							Quantity			
Successfu	Successful Rock Totals			1.629	26,277.25	2,049.63	28,326.88	12,310	196,960.00	15,362.88	212,322.88					4,000	36,000,00	2,808.00	38,808.00

Çė